Question 1

0.5 Ampere current is passed through a
solution of silver nitrate (AgNO;) for
400 seconds. The electrochemical
equivalent of silver is 0.0011180g. What
will be the amount of silver deposited?
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Question 2

The distance between the electrodes of a
conductivity cell is 1| cm and the cross-
section area of each is | cm?. If the cell
is filled with KCIl solution, then the
resistance of the cell is 7.25 ohm. What
is the specific conductance of the
solution?
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Question 3
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Which experimental method is used to estimate transport number?
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Question 4

Which of the four statements is
INCORRECT about Daniel cell?

i) The spontaneous reaction happening
at anode is oxidation of Zn to Zn?* (Zn
© 7Znit + 2e)

i1) Daniel cell is a galvanic cell or an
electrochemical cell. It is also reversible.
iii) The spontaneous reaction happening
at cathode is reduction of Cu?* to Cu
(Cu¥™ + 2e-e Cu)

iv) Although Daniel cell is an
electrochemical cell, it is non-reversible.
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Question 5

Calculate the standard Gibbs free energy
change for the following cell reaction:
Cu + 2Ag = Cu¥* +2 Ag ; Given E? (Cu/
Cu?) = +0.34 V and E° (Ag/ Ag’) =
+0.80 V: F =96500 C
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Question 6

pH of HCI solution was measured in a cell using a standard hydrogen electrode as reference. The cell potential (E or EMF of the cell) was found to be 0.125 V.

What is the pH of the HCI solution?
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Question 7

Why NH,NO,; and KCl is used in salt
bridge to eliminate liquid junction
potential?
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Question 8

The half-life of a first order reaction is 28 second. What is its rate constant?
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Question 9

For the reaction, Ny(g) + Oig) —
2NO(g); Ii the initial concentration of N,
was 0.500 M and the concentration of N;
was 0.450 M after 0.100 s, what is the

rate of the reaction?
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Question 10

The reaction inversion of sucrose:
C;H77041 + H2O = CgH 504 (glUCDSE)
+ CgH1,0¢ (fructose). The rate equation
for the reaction is written as Rate =
ki.[sucrose]. What is the order of the
reaction?

HALFITEA m e B TEC 1 Hyp O +
H,O0 = CgH204 (glucose) + CsH1104
(fructose)| 43 Hienl &iew arag ATl

gteRate = K;.[sucrose] @3 Ri@Fabs &5
57

Question 11

According to Arrhenius equation, what will be the intercept and slope of log(k) versus (1/T) plot?
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Question 12

The molar extinction coefficient of
coumarin derivative is 22,000 mol-! cm-
1. According to Lambert- Beer's law,
what will be the optical density or
absorbance of 0.0001 molar coumarin
solution? Path length1=1 cm
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Question 13

A molecule absorbs a light of certain wavelength, then emits/radiates a light of longer wavelength almost immediately. When the source of excitation is
removed, the emission/radiation stops immediately. What is this phenomenon known as?
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Question 14

Molecules having hydrophilic and hydrophobic part can form large aggregates in solutions over a certain concentration. This type of aggregations can be
found in soap water. What are these aggregates know as
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Question 15

In ammonia synthesis using Haber -Bosch process, finely divided iron powder is used as catalyst. Which is the type of catalysis in this case?
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Question 16

The amount of any substance deposited in an electrode during electrolysis depends on which factors?
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Question 17

The amcunt of any substance
deposited in an electrode
during electrolysis depends
on which factors?
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Question 18

What is the reciprocal of specific resistance?
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Question 19

What does the "break point" or “break” signifies in conductometric titration?
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Question 20

What is a cell that produces electricity as a result of a chemical reaction called?
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Question 21

What kind of electrode is a metal-sparingly soluble salt electrode?
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Question 22

What is the Nerst Equation
/ electrode equation for
the electrode Zn®*'|Zn(s) 2
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Question 23

For a reaction 2& + B —2C,
with the rate equation is
Rate = k[A]®*[B]. What is
the overall order of the
reaction?
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Question 24

What is the unit of the rate constant of a second order reaction?
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Question 25

What happens to rate constant of a reaction when temperature increases?
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Question 26

What is the name of the light produced from a chemical reaction?
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Question 27

What is the frequency of a 2000 A wavelength radiation?
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Question 28

What is the light emitted as a result of the descent of a molecule from a triplet electronic state to a singlet electronic layer called?
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Question 29

What is the dispersion medium of the foam of soap?
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Question 30

What is measured by osmotic pressure method in case of polymers?
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